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 ��� ���� ����������� ������ ������� �������������  ��!�!���� �"� #�$����
���%��� ����������!& ��%�%��� �������%�!��� ������ '	( )*( ��+,�� ��%�!������� ���
"-�&����� .���� ���� !�"���� ����� !��/��� �����0������ ������ '123*( �� �!����
������
 �!-,�!������!& %�!������ �0���� ��������  ��!�!����� 4���� � ��%���� )�
��� ��!�������� ������$ �!��!������$ �������� �"��� �� "�������!& '5*� � ��!����
,�� ����� �����!� ������ �� !�"����+ !���������"-+,�
!� ������$( �!�������
 ��
�����
 ���-���
 ����+����$ "� !�!������� ��$���&!���� ��������� ! 	
63 �� 788
�������� ��� 8��-�!��� ��!-���!������� -�����!����� '9*( � ���/� ������$ ��������
�����$ ��������( �!����$ ������
 ������!� �0���� !��-��-���$  �! ���� '�( 
*�

7�!����� �� �����&�� :�����$ !����� ���+,�
!� ������$ � ��"��%��� ��������
�
 ���������"�0��( ���-��&��$ �!����!� �������� ������"�0�� ����������
 "����$ �
����;���0�� �����
 ���-���
 ����+����$ �� �����&��
 �!�����
 /�"��������&��!��
� �"������$!���� ������"��� ��������� �"� #�$��� � �����
 �����$ !�!�����

<!������ "��%���� � ��� �������%�!��$ ����!;����0�� ������%�!���� ��,�!��� �
��������� �"��� ����� �������%�!������ �� %�!�- ����� ��-��� ������"��� '	�*� � ����
;�%�!�-+ 0��&  ��$ ��-��� �
���� !���-+,�� "���&�� ;����������� = ;���;��  ���
:-�� >������ !" #"��"$%&���? = 
�,��$ �����"���������� ������%�!��� ��;����� ����
��������-! >'"�!(�%�)(� � #!"&��*��? = ���&:�� � ����� ��������� >+(,%��(! �

#"��"$%&��� � +(,%��(! � -.#(/�*�? = ����� >0�(�" ��#�!��"?� .��%����&�-+ ���& �  ��$
0��� ����+� ���-��0�� �����������-!�( ���&:�$ � ����$ ���������( ��� ��� ������
�� ��
 ���
����!� ����� 53@ ����-�0�� ��������� �"��� '		*�

A��& �����$ ������ = !�!������"�0�� ����������
 "����$ � ����;���0�� ���+�
,�
!�  �!����������&��
 �����
 � ��
���"��
 �"������$!���� ��/�- ���-��0����
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�����������-!�( ���&:�$ � ����$ ��������� ��� ����,� ��������%�!��
 ������$�
B!����� �����- ��/�� ��"���& �� ��� %�!���

	? �0���� ���������� �������-���
 ���-��0�$ � !��0�������
 -!�����
( �� �� ��"
-%��� ��������$ %�!�����!�� �� �������C

)? ��!������� ���������
 ������$ %�!�����!�� ���-��0�$( ��!%�� ��%�� �������!��
���-��0�$C

1? �0���� ���������� �������-���
 ���-��0�$ ! -%���� ��������$ %�!�����!��(
��!������� ������ �"������$!���� ���-��0�$�

D���!��������� � !���&� ��"-�&���� ��!������� � �!!��������� ������ �"������$�
!���� � ��������� -��"����
 ���
 ����� ������"��� �"� #�$��� ����+�!� ��"������
� -��%������ �����
( ���-%����
 ����� '	)2	9*� D��  ��� -%�������!& "���%���� �
������/����( ��!��"����� �� !�������
 ��� ��!-/����� ��!���,�$ ������ � E���
������%�!��� ��!���-�� F< GH7 � � 7�-%�������"������&��� 0����� I#�$���J 8KB�
<!��-+ ����������!�& ������ ����/�+� !���-���0� E��������%�!���� ��!���-�� F<
GH7( ����� ����� ��-� L��� 4"+��( ���!:�$ ��� 0����
 "���%���$ �� !-,�!��- ������
� -�-%:���+ ���!������ ��������� !���&�� �!� ��%�!�����&���  �!��������� �� ���
���� ��������� � ��!��-������&��$ !�!���� ������������� MNO��P( ��"���������$ �
FQ8 F< GH7 '	�*�

�� 	
������� ����
��� ����������� ���������

G�!!������ �������%�!�-+ ���-��0�+( ��"����+,-+!� � !��0�������
 -!�����
� Q��
�"��%���( %�� �!������ 
��������!���� ��/�����!�� � !������!�� >�� ;;�0�����
��/�����!�� � !������!��? �� "���!�� �� �������� #-��� !%����& ���/�( %�� �!� �!���

��������"-+�!� ���&�� ��"��!��� � -!������� �� �!�� �!���&��� �����������

8!!���-���$ ��R��� ����!�����+� ���-��0�� ���
 ����� ������"���� ���&:�� ���
�������( ����� ��������� � �����������-! >��!� 	?�

F��-��-�� ���-��0�$ ���&:�$ � ����$ ��������� ����!������� ����� ��"��!�����
��-������ �������� >�!��� � ��"��!�� �� ������ ����?( ��������"����� � ������"�����
�!���� F��-��-�� ���-��0�� �����������-!� ����!������� ��-�� ��"��!����� ��-����
��� ��������"����� � ������"����� �!���� �"��!��� �!��� ��������� ����+�!� 
�,���
���� �� ����:���+ � !��!������$ ������ � �����������-!-� D����� !���-+,�� ����
"��%����� ��/��$ �����! - !������� ���������� �"��%��� ����� ��"��!���$ ��-���(
���
��$ = ���-��0�+� d = ����� ���������( b = ���&:�� ���������( m = ���������
���-!�

G�"��&�� ���-��0�+ �� ��"��!���� ��-��� i = 1, ..., k � ���"��%�� %���" N1 (t) , ...,
Nk (t) %�!�����!�� ���-��0�� � ��"��
 ��"��!���
 ��-���
 � ������ ������� t� #-���
!%����&( %�� �!��� ���-��0�� -%�!��-+� � ���0�!!� ��"���/����( ��
���!& ���&�� �
��!�����$ ��"��!���$ ��-���� ����� ��������� ����������$ ���������$� G�!!������
�����,���� %�!�����!��$ ��"��!���
 ��-�� ���-��0�� ΔN1 (t) , ...,ΔNk (t) "� �������
��$ ����$ �����/-��� Δt� D����,���� �����$ ��"��!���$ ��-��� ΔN1 (t) !������
����!� �" ������� %�!�����!�� "� !%�� ��/�����!�� � ������ %�!�����!�� � !��"� !
�����&+ �!���$ ��� ����
���� �
 �� ����-+ ��"��!��-+ ��-��-� F%����( %�� �!�  ��
���0�!!� ������+� �����!����!�&+( ������0�����&��$ %�!�����!��( �����

ΔN1 (t) = (ρNk (t)− λ1N1 (t)− θ1N1 (t))Δt, >	?
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�� ��!�� �������
��� �������� ��������������#
��	�� � "�	�$�� ��	���
��* ������ 
��	�

���� � ����� � ��������� � �����+ ����
����
�+ ������# ��!��������+ � ��"�	�+ �� ��������* ������ 
��	�

���� � ����� �
��"�	�+ �� �
�� �����
��

��� ρ = �� ;;�0���� ��/�����!�� ��!�����$ >������"����$? ��-���( λ1 = �� ;;��
0���� !������!�� �����$ ��"��!���$ ��-���( θ1 = �� ;;�0���� ������ �" �����$ ��"�
��!���$ ��-��� �� ����-+�

D����,���� %�!�����!��$ �!�
 �!���&��
 ��-�� !���������!� �" ������� %�!����
��!�� �" ������-,�
 ��"��!���
 ��-�� � ������ %�!�����!��( !��"������ ! �����&+
�!���$ � �
 ����
���� � ��!���-+,�� ��"��!���� ��-����

ΔNi (t) = (θi−1Ni−1 (t)− λiNi (t)− θiNi (t))Δt, i = 2, ..., k, >)?

��� θi−1 = �� ;;�0���� ������ �" ��"��!���$ ��-��� i − 1 � ��"��!��-+ ��-��- i(
θi = �� ;;�0���� ������ �" ��"��!���$ ��-��� i � ��"��!��-+ ��-��- i + 1( λi =
�� ;;�0���� !������!�� � ��"��!���$ ��-��� i�

G�"����� ��� %�!�� �����!�� >	? � >)? �� Δt � ����$�� � ������- Δt → 0( ���-%��
!�!���- �����������
 ��;;����0���&��
 -�������$

dN1

dt
= ρNk − λ1N1 − θ1N1,

dNi

dt
= θi−1Ni−1 − λiNi − θiNi, i = 2, ..., k, >1?

������� ���!����� �������- %�!�����!�� ���-��0�� �� �!�� ���������� ��"��!����
��-�����

�� ��
�
��
������ 
�����

F�!�������+ ������ ����:�!��-��  ��� �0���� � ����;���0�� ���������� �����&�
�� ��/��$ �������-���$ ���-��0��� <!������� ����%�!�������� 
��������!������
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���0�!!�� ��!����"���!��� � ������ �!���$ ���-��0�� ����+�!� �� ;;�0����� ��/���
���!�� � !������!��� D�� �� ;;�0������ ��/�����!�� �-��� �������& !������ %�!��
�������� �� ����$ ������"����$ �!��� � �����0- �������( ��� �� ;;�0������ !�����
��!�� = ����:���� %�!�� �!���$( �����:�
 �" ��"��!���$ ��-��� � !��"� ! �����&+( �
��,��- %�!�- �!���$ �����$ ��"��!���$ ��-��� � �����0- �������� 4�� �0���� �����
������ ������ !���-+,�� ���-,����� 	? ���-��0�� ��
����!� � -!�����
 !��0������
��$ !����( �� �� �� ;;�0����� ��/�����!�� ρ � !������!�� λi( i = 1, ..., k( �� "���!�� ��
�������C )? ���-��0�� ��
����!� � !�!������ �������!��( �� �� %�!�����!�& ��/��$ ��"�
��!���$ ��-��� �� ������!� �� �������C 1? %�!�����!�& �!���$ ���-��0�� �"������!�
�� ��"��!�- � �����
 ����$ ��"��!���$ ��-��� ��  �!�����0���&���- "����-�

���� ���������
�� ������ �����

����

F����!�� ���-,����� 	 � ) !�!���� >1? ������ ���

ρNk − λ1N1 − θ1N1 = 0,

θi−1Ni−1 − λiNi − θiNi = 0, i = 2, ..., k. >6?

8" ���-,���� 1 !���-��( %�� %�!�����!�& ��/��$ ��"��!���$ ��-��� ��/�� ���&
����!������� � ����

Ni =

Ti−Ti−1∫
0

n (Ti−1) e
−λiτdτ = n (Ti−1)

1− e−λi(Ti−Ti−1)

λi

, i = 1, ..., k, >3?

��� Ti, Ti−1 = ���
��� � ��/��� �����0� ��"��!�� �!��� � i�$ ��"��!���$ ��-���(
n (Ti−1) = ������ %�!�����!�� �" ��"��!���$ ��-��� i− 1 � ��"��!��-+ ��-��- i( λi =
�� ;;�0���� !������!�� i�$ ��"��!���$ ��-����

<������( %�� n (T0) = ρNk� D� ���- �" ������� -�������� !�!���� >6? � -��������
>3? ��� i = 1 ���-%��

n (T0)− λ1n (T0)
1− e−λ1T1

λ1

− θ1n (T0)
1− e−λ1T1

λ1

= 0, >5?

!���������&��(

θ1 =
λ1

eλ1T1 − 1
. >9?

H������%�� ��� �!���&��
 ��"��!���
 ��-�� ��/�� ����!�� ��,-+ ;���-�- ���
 ;;�0����� ������ %�!�����!�� �" ����$ ��"��!���$ ��-��� � ��-�-+�

θi =
λi

eλi(Ti−Ti−1) − 1
, i = 2, ..., k. >�?

���� ���������
�� �����������

S� ;;�0����� ��/�����!�� ���� ���-%��� �� �!���� �����
 '		( 	
2))*�
�1���� ��	22�1������ 
�3�������� �4� 5�467�� � ��4�� ��4������8 � ������

')�* �� !� 		1 ����!������� ������ � !�����$ ���������!�� ���������� ����$ = 	55�
��%����T���( ���&:�$ = )��� ��%����T���� U�� /� -��"���( %�� %�!�� -%�!��-+,�
 �
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, � " 	 � � � (� -���������� ��!�� �	�
�� ��	� ����� �������������� � ��	�
������ ��
��
$������� �+ ���

'�����
�� ������ �����# �� (./0( 0(/0. 0./01 01/22 )���
�� ����$�

��

)���
�� ��	�
����� ���#
33 (45 (.3 2.0 ((4�(06

��
�$������� ������# $��

7�
�����	�
�� 
��	�

���� (�8 8�2222 8�(((( 8�825 �

��"���/���� !���� �� ��,��� %�!�� !���� !�!������� - ����$ ��������� 9)@( - ���&�
:�$ = 3�@�

� ������ '))* ����"���( %�� !���� !�!�����+� 3�@ ���-��0��� <�!+�� ���-%�� %�!�
�� -%�!��-+,�
 � ��"���/���� �!���$ �� ��,��� %�!�� �!���$ ���-��0��� ��� ����$
��������� = 15@( ��� ���&:�$ = )3@�

U���� ����"��( �� ;;�0���� ��/�����!�� ����$ �!��� ��/�� ���& �0���� ���
����$ ��������� ��� ρd = 597.6 ��%����T��� �� ���- �!��&( ��� ���&:�$ = ��� ρb = 500
��%����T��� �� ���- �!��&�

�1���� ��	22�1����� 
�3�������� �4� 9�9�4�1�� ���
������9���8 F���� ����
��������-!� ���+�  ��������&��$ ������ 1�263 !-� ')	*� V�/�� ��������/��&( %��
�����$ ������( ���+%�+,�$ ����:������ ��0( �������:���� � ��!!����������( !��
!������� 5�2
� !-�� F���������&��( � ��%���� ������ ���� ������"����� !���� ����
����!�� �� 6 �� 5 ��"� � ')	* ����!������� ������ � �������� ��!�� � ����������
!�� �����������-!� >����� 	?( �� ������� ��/�� !�����& ��������/����( %�� !����
�����������-!� /���� ����� 6�� !-�� � ��"��!�� 	��2)6� !-� !���� ��!������ �����
	62	5 �� � !�������!� ������"����$� S���%�!��� ��0( ����:������� !����$( "���!��
�� �� ������

D�� ���!%��� !������� ����%�!��� ��0( ���
���,�
!� �� ���- ������"���-+ !���
�-( ����
����� -%������&( %�� ��"������ ��-���( ����!��������� � ����� 	( ���+�
��"��%��� ����%�!��� �
���,�
 � ��
 �!���$� D��%���$  ���� ������!� ��!���$ �� ;�
;�0���� !������!�� �����������-!�( ������$ �� �����������&��� �0����� ������
"��!& ������ λ = 6 >�!��&T���?� #��"��� �0���� �� ;;�0����� !������!�� ���-%���
�������� � ��"���� 1�1�

D���������� ����$�-+ "���!���!�& ��"���� �� ��"��!��( ���-%��( %�� %�!�����!�&
!���-+,�$ ��"�����$ ��-��� � ��� ��"� ���&:� %�!�����!�� ������-,�$� � �����
!%��� �� ��"��!�  �� !������!��-�� ���������- ��:� �� ;;�0����- !������!�� λ = 6
>�!��&T���?� <�!+�� !������ ����%�!��� ��0 � ���( ���
���,��!� �� ���- -!�������
�-+ ������"���-+ �!��&( ��
����!� � ��������� �� 114.125 × 4 × 0.5 = 228.25 ��
114.125× 6× 0.5 = 342.375 :��T����

�� � ���������
�� �����
����

:������� �1���� ��	22�1������ ���
������8 G�!!������ �������- ��"��!����� !��
!���� ���-��0��� F���-� ')1( W ��	*( � ��%�!��� �!�����$ 
��������!���� ��"��!�����
!�!���� ���-��0�� ��!!������ ��"��!��-+ ������!�& %�!�����!�� = ;-��0�+ ��-
 ���
�-������ n (τ, t)( ��� τ =��"��!�( τ ∈ [0, T ]( T = ���!����&��$ ��"��!� �!���( t = �����(
t ∈ [0,∞)� X�!�����!�& �!���$ ! ��"��!��� �� τ1 �� τ2 � ������ ������� t ����������!�
�� ;���-��
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τ2∫
τ1

n (τ, t) dτ. >
?

D�����!�&+ ��/�����!�� P (τ, t) ��"�����!� ����� ;-��0�� ��"��!�� � �������(
%�� ��� �+��
 ��-
 ��"��!��� τ1( τ2 � �������� ������� t1( t2 %�!�� ������/�����

�!���$( ����/�����
 ���������� ! ��"��!��� τ ∈ [τ1, τ2] "� ����� t ∈ [t1, t2]( �����

τ2∫
τ1

t2∫
t1

P (τ, t) dτdt. >	�?

H������%�� ������!�&+ !������!�� Λ (τ, t) ��"�����!� ����� ;-��0�� ��"��!�� �
�������( %�� %�!�� �!���$( �����:�
 "� ����� t ∈ [t1, t2] ! ��"��!��� τ ∈ [τ1, τ2]( �!�&

τ2∫
τ1

t2∫
t1

Λ (τ, t) dτdt. >		?

F����!�� ���-,���+ 	 >!�� !� 3	? ����%��� ������!�� ��/�����!�� � ������!�� !�����
��!�� ���-� ���& ����!������� � !���-+,�� �����

P (τ, t) = ρ (τ)n (τ, t) ,

Λ (τ, t) = λ (τ)n (τ, t) ,

��� ρ (τ) � λ (τ) = !������!������ �� ;;�0����� ��/�����!�� � !������!�� � ���-���
0���

4������- %�!�����!�� ���-��0�� ���!����� !�!���� -�������$

∂n

∂t
+

∂n

∂τ
= −λ (τ)n (τ, t) ,

n (0, t) =

T∫
0

ρ (τ)n (τ, t) dτ >	)?

��� "������
 ��%��&��
 -!�����
 n (τ, 0)� D�������$ ����� !�!���� >	)? ����!������
� ')1( W ��)*� D��!��� ;�"�%�!��$ !��!� -�������$ �����$ !�!����� D����� -������
��� ��"�����!� -��������� ��/������!�� >������?� L�� ��/�� ���������& ��� -����
����� I����"�����!��J( �� �� "� ��������$ ��������$ �������� �!� �!���( ��:��:�� �
��������$ ��"��!���$ ��������( ���/�� ��� �����-�&� ������ -�������� ��"�����!�
-��������� ��/�����!���

D�����!�& %�!�����!�� �!���$ ! �-����� ��"��!��� ����"-��!� ��� !-��� ��/��+�
,�
!� � ������ ������� t �� ��������$ �!�
 ��"��!����

F����!�� ���-,���+ ) ;-��0�� ��-
 ���-������ n (τ, t) �� "���!�� �� ������� �
��/�� ��!!��������&!� ��� ;-��0�� ������ ���-����� n (τ)� U���� !�!���� -������
��$ >	)? ������ ���

∂n

∂τ
= −λ (τ)n (τ) ,
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n (0) =

T∫
0

ρ (τ)n (τ) dτ. >	1?

G�!!������( ��� !��"��� ��/�- !���$ �� ;;�0����� ��/�����!�� � !������!���
D����� !���-+,-+ ������"- = �-!�& ;-��0�� ��/�����!�� ����������!� ����� ���
���������� �������� �������� !�"�������( ������-������� �������� � ��!�������
�� ;;�0������ ��/�����!��� 7� �!�������  ���� ;-��0�� ��/�����!�� ����"��!�
���

ρ (τ) =

{
0, τ ∈ [0, Tk−1) ,
ρ, τ ∈ [Tk−1, Tk] ,

>	6?

��� ρ = �� ;;�0���� ��/�����!��( Tk−1 = ����� ��!�� �!��� �� ������"������ !�!���
����( Tk = ����� /�"�� �!����

G�!!������ !�-%�$( ����� �� ;;�0���� !������!�� λ (τ) = �-!�%�����!�������
;-��0��

λ (τ) =

{
λ1, τ ∈ [0, T1) ,
λ2, τ ∈ [T1, Tk] .

U����

n (τ) =

{
n (0) e−λ1τ , τ ∈ [0, T1) ,
n (0) e−λ1T1−λ2(τ−T1), τ ∈ [T1, Tk] .

>	3?

F -%����  ���� -�������� ��/�����!�� !�!���� >	1? ������ ���

n (0) =

Tk∫
0

n (τ) ρ (τ) dτ = ρ

Tk∫
Tk−1

n (τ) dτ = ρ

Tk∫
Tk−1

n (0) e−λ1T1e−λ2(Tk−1−T1)e−λ2(τ−Tk−1)dτ =

=
n (0) e−λ1T1eλ2T1ρ

λ2

(
e−λ2Tk−1 − e−λ2Tk

)
,

���-��

eλ1T1 = eλ2T1ρ
e−λ2Tk−1 − e−λ2Tk

λ2
. >	5?

E�����;���-� ��� %�!�� >	5? ���-%��� !�����:����

λ1 = λ2 +
1

T1
ln

(
ρ
e−λ2Tk−1 − e−λ2Tk

λ2

)
. >	9?

� !�-%�� ��!�������� �� ;;�0����� !������!�� �� �!�� �����/-��� /�"�� �!���
λ (τ) = ��!������� ����%���

λ (τ) = λ, τ ∈ [0, Tk] .

Y-��0�� ������!�� %�!�����!�� n (τ) ����/���!� !���-+,�� ����"���

n (τ) = n (0) e−λτ , τ ∈ [0, Tk] . >	�?

�  ��� !�-%�� ;���-�� >	5? ������ ���

ρ =
λ

e−λ2Tk−1 − e−λ2Tk
. >	
?
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�� ��������� �	� ����	���� "�	�$�� 9
: �
��	�� 9�: ��	���
��# ; <(1=

U���� ����"��( ���-%��� !�����:���� >	5?( >	
?( !��"���+,�� %����� ����������
�� ;;�0���� ��/�����!�� ρ( �� ;;�0���� !������!�� λi( i = 1, ..., k( ����� ��!��
�!��� �� ������"������ !�!������ Tk−1 � ����� /�"�� �!��� Tk�

�1���� ��	22�1������ ���
������ �4� �
�99 ��9�4���;
�4�< � 9�4���;
�4�< ���=

5�� 5�467�� � ��4�� ��4������8 7� ��!� ) � � ����� ) ����!������� ������ � ���0����
��� !�����:���� %�!�����!�� �!���$ � �����������$ ��"��!���$ ��-��� ��� ��/��$
�" ���-��0�$ ���������( �"���� �" ������ '	
*� F����!�� ��"���������$ � '	
* �������

, � " 	 � � � 0� >������
�� ������ "�	�$�� � ��	�� ��	���
�� 9��	� �� �"?��� 
��	�
���"��# ;: �� )�������� 9(155 ��:
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�
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�� � ��%���� 9 ��� ! 	
5
 �� 	
93 �� ����"�����!� ���� � ��/��� -���� � ���0������
����:���� � ��,��- ����%�!��- �!���$ � -���� ���!%�������!& %�!�����!�& �!���$(
��!���:�
 ������������� ��"��!��� H������ ���� �������� :�!�& �!�����
 ��"��!�
���� 7� �!������� �����
 ����� ) ���-%��� -!��������� "��%���� ��� ��"��!�����
!�!���� � ���0����
�

8" ��!� ) � ����� )( 1 �����( %�� ������ ��"��!����� !�!���� ��� ����
 ����� �����
����� ���"�� �  �!��������� F����!�� �������� ��������/����� � ���( %�� ������
��"��!����� !�!���� ���!�����!� ;-��0��$ e−λτ ( ��� λ = �� ;;�0���� !������!��(
� τ = ��"��!�( -!��������� ������ ��"��!����� !�!���� ���������;�������� � �����
��� ������&:�
 ��������� ���-%��� !���-+,�� �0���� �� ;;�0������ !������!���
��� ����$ ��������� λd

2 = λd
3 = 0.68( ��� ���&:�$ λb

2 = λb
3 = 0.48�

�1���� ��	22�1������ ���
������ �4� ��������� ��4������8 D�������/��( %��
�� ;;�0���� !������!�� ��������� ����%�� �� �� ;;�0����� !������!�� �"��!��

�!���$� G���� ���� ���-%��� �0���� �� ;;�0������ ��/�����!��� ��� ����$ �����
����� ρd = 597.6 ��%����T���( ��� ���&:�$ ρb = 500 ��%����T���( � �� ;;�0������
!������!�� ��� �"��!��
 �!���$� ��� ����$ ��������� λd

2 = λd
3 = 0.68( ��� ���&:�$

λb
2 = λb

3 = 0.48� ����� ��%��� ������-�������� ������� � ����� /�"�� �!��� �0������
��!� � ������ '	�*� ��� ����$ ��������� T d

2 = 2.5 ����( T d
3 = 6.5 ���( ��� ���&:�$ =

T b
2 = 3.5 ����( T b

3 = 7.5 ���� ����� /�"�� ��������� ��/�� �0������& �����"���- = 	�(
		 ��� 	) ��!�

4�� �0���� �� ;;�0������ !������!�� ��������� � ���-��0��
 ���&:�$ � ����$
��������� ��!���&"-��!� ;���-��$ >	5?� S�� ����� �" ����� 6( "��%���� �� ;;�0��
����� !������!�� ��� ��������� ���&:�$ � ����$ ��������� ���"���!& ������%�!��
��������

D�!���&�- �������� ����
 ����� ��������� ����!��!� � ����$ ��"�����$ ��-���( ��
����%�� ��������/��&( %�� ��� �!������+� ���������� �������� !� !������ 
�,��%��
+,�
 �"��!��
 ��� �( !���������&��( �-�-� ����& ���������� �� ;;�0����� !�����
��!��� 4���� "��%���� �� ;;�0����� !������!�� ��������� ��������� �-��� !%����&
������ λb

1 = λd
1 = 5.69�

, � " 	 � � � 2� @����
�

�� �� ������ (1.1/(156 ��� �������
�� ������ "�	�$�� � ��	��
��	���
�� 9��	� �� �"?��� 
��	� ���"�� � ����	����# ;:

>������# 	�� ��	�$�� ��	���
�� A�	�� ��	���
��

( 4(�2 41�.

0 04�1 01�2

2 (2 (4�2

4 1 1�2

6 5�5 6�.

. 6 0

, � " 	 � � � 4� '���	����� ���
��� ���  ����
�� �����
���� ��������� "�	�$�� 9λb
1: � ���

	�� 9λd
1: ��	���
�� 9���"�B���:

C��  ����
� >������� �������� ��������� T1 9���:
�����
���� 8�322 8�10. (

λb
1 .�0.1 6�.33 6�280

λd
1 .�060 6�.10 6�20(
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�1���� ��	22�1����� ���
������ �4� 9�9�4�1�� ���
������9���8 D����� �����
��"- � ������ �� ;;�0����� !������!�� λ ��� �!�$ ���-��0�� �����������-!�� �  ���
!�-%�� "��%���� λ ������%�!�� �-��� !�������& ! ����:����� ����-�0�� ���-��0��
� �� �����!!� >P/B��� ;;�0����?� <������( %�� � '		* ;����%�!�� ��������� ����
������%���� ������ ����!����&�� ����-�0�� �����������-!� >!�� !� 3		( 3	)?� .��!&
����������� �����������-!� ������ >591 ��!� �? � ��� ��"� �����:��� "��%���� ���
����-�0�� >11� ��!� �?� �  ��� /� �!��%���� >!�� !� 3	
? �������� ��,�$ "���! ����
��!!� �����$ ���-��0�� � �"���( �����$ 		� ��!� �( �� �� P/B��� ;;�0���� �� ����$
���!�� ����� "��%���� 5( � �� ��-��$ 1�

4�� �0���� �� ;;�0����� !������!�� �����������-!� ���������!& ��� ��"���!��
��
 ������ ��!%���� �����$ = �� �!���� �����!���
 !�����:���$ �� ;���-�� >	
?(
�����$ = �� �!���� �����"� �����
 � ��"������ !�!���� ���-��0�� ')�( )	*�

V���� 	� ��!���&"-��!� �������( ������������ � ������ ')	*� ����� /�"�� �!���
T2Z 	�1	3 ����( ����� ��!�� �!��� �� ������"������ !�!������ )6� !-� >T1 = 0.657?�
D������� !�����:���� >	
? ��� ��!%��� �� ;;�0����� !������!�� ���-��0�� ������
������-!� �� �!���� ��$�����
 ��:� �0���� �� ;;�0����� ��/�����!��� D��-%�����
������ ��������� � ����� 3�

V���� )� � ������ ')�* >!�� !� 
3? !���,���!�( %�� �� �!�
 -����
 "� ������ �+�&=
�����& 	
91 �� ����������� ������ �!���� G�"������ ��-��� ��%��� �����$ �� 3 ��
!�!������� �32
3@ ��,�$ %�!�����!���

D�!���&�- �"��!���( %�� ��"��� !��0�� �����������-!� ������� �� �����:���
3�3 ��( �� !���������&��( �!���:��!� 32	3@ ���
����!� �!��+%����&�� �� !����( �
�
 ����%�!��� !�!������� �� ����� 3�@ ���-��0�� > �� �0���� ��!���&�� "���/���(
�� ������ ')	* ���� !��0�� ��������!� �� -����� 
2	5@( � ���!����&��� "��%����
����� 1
@?� U���� ����"��( �" 3�@ !���� ���&�� 32	3@ ����� ��"��� ����� 3 ��( �
13263@ = ����� 3 ���

D������%��&��$ ��"��� !���� !�!������� 	 �� � � ��%���� 	��2)6� !-� �� -���
��%�����!� �� 	62	5 ��( ���  ��� !���� !����:��� 	�2	1 ����� ')	*� D����� ���&��
���
���� %���" 325( ��!���-+,�� = %���" 	�2	1 !-� >� !������ �� ���- ���&�- ����

����!� ��!��& !-�?� D���������� ����$�-+ "���!���!�& ����� �� ��"��!��( ���-%��(
%�� !���� �����������-!� ��!������ ����� 3 �� �������� "� 3	25� !-�� U���� ����"��(
�� 13 �� 63@ %�!�����!�� !���� ���
����!� �� ������ 5� !-� /�"�� >����� �� 3 ��?�

D����� ������"- � ������ �� ;;�0����� !������!�� ��� �!�$ ���-��0�� ������
������-!�� U���� %�!�����!�� ��"�����
 ��-�� !���� �� 3 �� � ����� ��������+�!�
����/������

Nm
1 =

T1∫
0

N0e
−λτdτ = N0

e−λτ

−λ

∣∣∣∣
T1

0

= N0
e−λT1 − 1

−λ
,

Nm
2 =

T2∫
T1

N0e
−λτdτ = N0

e−λτ

−λ

∣∣∣∣
T2

T1

= N0
e−λT2 − e−λT1

−λ
,

, � " 	 � � � 6� '���	����� ���
��� ���  ����
�� �����
���� �	� �������������� λm

9���"�B���:

C��  ����
� ��!�������� 003�06 9���B���: 240�256 9���B���:

C��  ����
� �����
���� 6�. .�(80
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, � " 	 � � � .� '���	����� ���
��� ���  ����
�� �����
���� �	� ����	���� ��������������

>���� �����!�
�� %�	� ����� %�	� ����� C��  ����
�
������ ������� �	�
�� �� 6 ��#; �	�
�� "�	�$� 6 ��#; �����
���� λ
6 �� 9T1:# ���

8�(215 96( ���: 46 6 (6�503

8�(3. 9.3 ���: 46 6 ((�3(2

8�(215 96( ���: 26 (6 3�.(3

8�(3. 9.3 ���: 26 (6 .�4501

��� T1 = ����� ��!�� !���� �����������-!� �� 3 ��( T2 = ����� �� /�"��( λ = �� ;�
;�0���� !������!���

G�!!������ ����:���� %�!�����!��$ ����
 ��-�� !����

Nm
1

Nm
2

=
e−λT1 − 1

e−λT2 − e−λT1
=

eλT1 − 1

1− e−λ(T2−T1)
.

D�� T2−T1 > 1 � λ > 5 "���������&  ���� ����/���� ��/�� ������& ������ �����0�(
��� ��� ��� ����
 "��%����


e−λ(T2−T1) < e−5 = 0.00673794.

F���������&��(
eλT1 − 1

1− e−λ(T2−T1)
≈ eλT1 − 1.

<�!+�� ����%��� �� ;;�0����� !������!�� λ ��/�� ���& ��!!%����� !���-+,�� ���
��"��� G�!!������ !�-%�$( ����� !���� ��!������ ����� 3 �� "� 3	 !-�� U���� T1 =
51/365 = 0.1397. D-!�& ���/� !���� �����$ ����� 3 �� !�!�����+� 13@( � ����� 3 �� =
	3@ �!�
 �!���$� U���� �
 ����:���� ����� eλT1 − 1 = 35/15 = 2.333( !���������&��(

λ =
ln (2.333)

0.1397
= 8.618.

� ����� 5 ��������� ��"-�&���� ��!%��� �� ;;�0����� !������!�� �����������-!�(
�" ������
 �����( %�� �������&��� "��%���� �� ;;�0����� !������!�� ��� !����
�����������-!�( �0������� �� ������ ')�( )	*( λ = 6.4729� Q�� �0���� ��!����%�� ���"��
� ��"-�&����� ������-,��� ��!%��� >!�� ����� 3?�

8!
��� �" ��������/��!�� ��%��� �����������-!� � ��������� ��������� � ����$
��"�����$ ��-��� �� ��������� ������"- �� ����� "��%���� �� ;;�0����� !�������
!�� ���  ��
 ������"��� = λ1 = 5.69�

�� ������
��� 
�����

V����& �"������$!��-+,�
 ���-��0�$ �����������-!�( ���&:�$ � ����$ ���������
�!������ �� ���
 �!���������&��
 ���������
 ������
� H��������� ������ !�����!�
� ���� !�!���� ��;;����0���&��
 -�������$ >1?� 4�� ��/��$ �"  ��
 ������$ �� �!���
�� �!
����
 �����
 >���-%����
 ����� �0����? ��������!� ������ ����
 ����������(
������� ���!��%���+� �������!��� !�!������ ���-��0��� S ���������� ������ �����
!��!� �� ;;�0���� ��/�����!��( �� ;;�0���� !������!�� � �� ;;�0����� ������



���������	
�� ���	��
������ ���������	 ���������� ����	 �	��	� 3


%�!�����!��$ �" ����$ ��"��!���$ ��-��� � ��-�-+� G������!��� !�!������ ��!�������
!� "� !%�� �"������� �� ;;�0���� ��/�����!�� >������$ !%����� �0������� �����
��!�������( %�� �� ;;�0���� !������!��?�

8!
����� "��%���� %�!�����!��$ ���-��0�$ >:��T�2? �����������-!�( ���&:�$ �
����$ ��������� �0�������!& �� ���+,��!�  �!����������&��� ������� U��( '		*
%�!�����!�& ����$ ��������� � ��"��� ���� !�!������� �� )) �� 6	 ����  �"� >��
���69 �� 	�39 �"��!��
 �!���$T�2?( � �� ����� ��� %�!�����!�& ���&:�$ ���������
�"������!& �� 9 �� 	� ����  �"� >�� ��)5 �� ��1�3 �"��!��
 �!���$T�2?� X�!�����!�&
��������� ��������� ��
����!� �� ;���-��( ���-%����$ �" >	3?�

N1 = (N2 +N3)
1− e−λ1T1

λ1e−λ1T1
· λ2

1− e−λ2(T3−T2)
.

X�!�����!�& �����������-!� �0�������!& �!
��� �" ����:���� ��� ����-�0�� � ����
�-�0�� ��������� ����������

:���46 9�9�4�1�� 5�467�� ��4������� F����!�� >1? �������� %�!�����!�� ���-���
0�� ���!�����!� !�!����$

dN b
1

dt
= ρbN b

3 − λ1N
b
1 − θb1N

b
1 ,

dN b
2

dt
= θb1N

b
1 − λb

2N
b
2 − θb2N

b
2 ,

dN b
3

dt
= θb2N

b
2 − λb

3N
b
3 − θb3N

b
3 . >)�?

8!
����� ������ ��� ��!������� ������ !���-+,��� �� ;;�0���� !������!�� ���
������� λ1 = 5.69C ������&��$ ��"��!� ��������� T b

1 = 1C �� ;;�0���� !������!��
�����$ ��"��!���$ ��-��� λb

2 = 0.48C ��"��!� ��%��� ������$ "����!�� T b
2 = 3.5C �� ;�

;�0���� !������!�� ����&�$ ��"��!���$ ��-��� λb
3 = 0.48C ����� /�"�� �!��� T b

3 = 7.5C
�� ;;�0���� ��/�����!�� ρb = 500C %�!�� �!���$ �� 	 �2( �����:�
!� "� ���� ��� >�0��
���� �� �!���� �����
 '		*? N b

0 = 59�
D�������� ������� �� ;;�0����� !������!�� λ1 = 5.69, λb

2 = 0.48, λb
3 = 0.48C ���

 ;;�0����� ������ %�!�����!��( ��!!%������� �� ;���-��� >9?( >�?( θb1 = 0.0216, θb2 =
0.204, θb3 = 0.082C �� ;;�0���� ��/�����!��( ���!��%���+,�$ �������!��� !�!����
��� ������( ρb = 497.88C ��%��&��� "��%���� %�!�����!��$ � ��%�� �������!�� N b∗

1 =
10.3298, N b∗

2 = 0.3266, N b∗
3 = 0.1185( ��!!%������� �� ;���-���

N b∗
1 = N b

0

1− e−λ1T b
1

λ1
, N b∗

2 = N b
0e

−λ1T b
1
1− e−λb

2(T b
2−T b

1)

λb
2

,

N b∗
3 = N b

0e
−λ1T b

1−λb
2(T b

2−T b
1) 1− e−λb

3(T b
3−T b

2)

λb
3

.

:���46 9�9�4�1�� ��4�� ��4������� 4������� %�!�����!�� ���-��0�� ����$ ���
������� ���!�����!� !�!����$

dNd
1

dt
= ρdNd

3 − λ1N
d
1 − θd1N

d
1 ,
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dNd
2

dt
= θd1N

d
1 − λd

2N
d
2 − θd2N

d
2 ,

dNd
3

dt
= θd2N

d
2 − λd

3N
d
3 − θd3N

d
3 . >)	?

8!
����� ������ ��� ��!������� ������ !���-+,��� �� ;;�0���� !������!�� ���
������� λ1 = 5.69C ������&��$ ��"��!� ��������� T d

1 = 1C �� ;;�0���� !������!��
�����$ ��"��!���$ ��-��� λd

2 = 0.68C ��"��!� ��%��� ������$ "����!�� T d
2 = 2.5C �� ;�

;�0���� !������!�� ����&�$ ��"��!���$ ��-��� λd
3 = 0.68C ����� /�"�� �!��� T d

3 = 6.5C
�� ;;�0���� ��/�����!�� ρd = 597.6C %�!�� �!���$ �� 	 �2( �����:�
!� "� ���� ���
>�0����� �� �!���� �����
 '		*? Nd

0 = 213�
D�������� ������� �� ;;�0����� !������!�� λ1 = 5.69, λd

2 = 0.68, λd
3 = 0.68C ���

 ;;�0����� ������ %�!�����!��( ��!!%������� �� ;���-��� >9?( >�?( θd1 = 0.0192, θd2 =
0.3834, θd3 = 0.0479C �� ;;�0���� ��/�����!��( ���!��%���+,�$ �������!��� !�!����
��� ������( ρd = 597.33C ��%��&��� "��%���� %�!�����!��$ � ��%�� �������!�� Nd∗

1 =
37.3075, Nd∗

2 = 0.6768, Nd∗
3 = 0.3565( ��!!%������� �� ;���-���

Nd∗
1 = Nd

0

1− e−λ1T d
1

λ1

, Nd∗
2 = Nd

0 e
−λ1T d

1
1− e−λd

2(T d
2 −T d

1 )

λd
2

,

Nd∗
3 = Nd

0 e
−λ1T d

1 −λd
2(T d

2 −T d
1 ) 1− e−λd

3(T d
3 −T d

2 )

λd
3

.

:���46 9�9�4�1�� ���
������9���� 4������- %�!�����!�� ���-��0�� �����������
�-!� ���!����� !�!����

dNm
1

dt
= ρmNm

2 − λ1N
m
1 − θm1 N

m
1 ,

dNm
2

dt
= θm1 N

m
1 − λ1N

m
2 − θm2 N

m
2 . >))?

8!
����� ������ ��� ��!������� ������� �� ;;�0���� !������!�� λ1 = 5.69C ��"�
��!� ��%��� ������$ "����!�� Tm

1 = 0.657C ����� /�"�� �!��� Tm
2 = 1.315C �� ;;�0����

��/�����!�� ρm = 211.9216C %�!�� �!���$ �� 	 �2( �����:�
!� "� ���� ��� >�0����� ��
�!���� �����
 '		*? Nm

0 = 2340�
D�������� ������� �� ;;�0���� !������!�� λ1 = 5.69C �� ;;�0����� ������ %�!�

�����!��( ��!!%������� �� ;���-��� >9?( >�?( θm1 = 0.2463, θm2 = 0.0782C �� ;;�0����
��/�����!��( ���!��%���+,�$ �������!��� !�!������ ������( ρm = 244.9327C ��%��&�
��� "��%���� %�!�����!��$ � ��%�� �������!�� Nm∗

1 = 401.4626, Nm∗
2 = 9.5536( ��!!%��

������ �� ;���-���

Nm∗
1 = Nm

0

1− e−λ1Tm
1

λ1
, Nm∗

2 = Nm
0 e−λ1Tm

1
1− e−λ1(Tm

2 −Tm
1 )

λ1

.

�� ������ ����
��� ����������� ����
��� ����!"�#

�������� 
��
�$��������% &���'� � 
��� $���
����

�"������$!���� ��/�- ���-��0���� �����"����� � ������ %���" �"������� �� ;;��
0������ !������!�� /���� >�������� ��������� � �����������-!? � �� ;;�0������
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��/�����!�� ���&:�$ � ����$ ���������� 4�� �������!���� !�!������ ������ ���"���
%�� ;��!��������� "��%����  ��
 �� ;;�0������� �� ;;�0���� !������!�� �������
��� ��������� � �����������-!� λ∗

1 = 5.69C �� ;;�0���� ������-������!�� ���&:�$
��������� ρb∗ = 497.88C �� ;;�0���� ������-������!�� ����$ ��������� ρd∗ = 597.33�
#-��� !%����&( %�� ��"������ �� ;;�0����� ����+�!� ����$���� ;-��0���� %�!����
��!��$ ��"��!���
 ��-�� ���-��0�$�

>�	22�1���� ���
������ 3�
��8 8"��!���( %�� �� ���+ ����$ ��������� ���
��
���!� 5
��@ ����-�0�� �����������-!�( �� ���+ ���&:�$ = ))�1@( � �� ���+ ��-��

��� 9��@ '		*� U�� ��� ����� �� ������� ������"- � ������ �� ;;�0����� !������!��
��� ��������� ��������� � �����������-!�( �� ��/�� ��!���!������&  �� ������ � ��
��������� ���������� 4�� ������  �� �"��%���( %�� �� ;;�0���� !������!�� λ1 -/�
�� ������!� ���!�����$( � ��
����!� � ����$��$ "���!���!�� �� %�!�����!�� �����$ �
����&�$ ��"��!���
 ��-�� ����������

λ1 = λ∗
1

(
0.223

N b
2 +N b

3

N b∗
2 +N b∗

3

+ 0.078 + 0.698
Nd

2 +Nd
3

Nd∗
2 +Nd∗

3

)
,

��� N b∗
2 , N b∗

3 , Nd∗
2 , Nd∗

3 = %�!�����!�� !���:�
 ��"��!���
 ��-�� � �������!��� !�!���
���� ��� ���&:�$ � ����$ ��������� !������!�������

>�	22�1���� 
�3�������� <�?�����8 #-��� !%����&( %�� ������-������!�& �!���
������0�����&�� �� ��0���-( �� �� ����%�!��- -�����������$ ��,�� U���� �� ;;�0��
���� ��/�����!�� ��� ���&:�$ � ����$ ��������� ��!!%�����+�!� �� !���-+,��
;���-����

ρb = ρb∗
(
0.37

Nd
1 +N b

1

Nd∗
1 +N b∗

1

+ 0.63

(
Nm

1 +Nm
2

Nm∗
1 +Nm∗

2

))
,

ρd = ρd∗
(
0.07

Nd
1 +N b

1

Nd∗
1 +N b∗

1

+ 0.93

(
Nm

1 +Nm
2

Nm∗
1 +Nm∗

2

))
.

.��!& ���9 = ���� �����$ ��,� = ��������� ���&:�$ � ����$ ��������� � ��0����
����$ ���������( ��
1 = ���� �����������-!� � ��0���� ����$ ���������( ��19 = ����
�����$ ��,� = ��������� ���&:�$ � ����$ ��������� � ��0���� ���&:�$ ���������(
��51 = ���� �����������-!� � ��0���� ���&:�$ ����������

8"��!���( %�� ��0��� ��������� !�!�����+� �����������-! � �������� ����������
� �������-�� ���+�!� ������ � ������� ��������� �� ������ ���- /�"�� '	
*� � ��0��
��� ����$ ��������� �������� !�!�����+� )3@ >�� ��!!�?( �����������-! 5�@( � ���
0���� ���&:�$ ��������� = !������!������ 5�@ ��������� ��������� � 11�3@ ������
������-!�� S���� ����( �"��!���( %�� ��� ���� ��������� ���!�� ��������+� 5�� ��!� �
�����������-!� >65	 ��!� � ����������!� ����$ ���������$ � 	69 ��!� � = ���&:�$?
� 9� ��!� � �����$ ��,� >���������? '		*� <%������( %�� �!���&"����& �����������
������0�� � ������ ���� ����"��/��( �� ���- �-��� ��!!��������& �
 ����:����� �
 ��� !�-%�� ���� ���������( ������
 ���������� ����� ���������( !�!����� )
@ ��
��,��� ����%�!��� �����$ ��,�( ���� ���&:�$ ��������� = 9	@�

D�!���&�- ��%�� �����������-!� � �������� ��������� ������+� ��"��$  ������
��%�!��$ 0����!�&+( ��� ������&��$ �0���� !�����:���$  ��
 ���-��0�$ � ��0����
��������� ����
����� �������"����& �
 !��-+ ��!!- � F�������%�!�-+� 4�� �� ;�
;�0������ �������"������ !���$ ��!!� � ��!!- F�������%�!�-+ ������� !���-+,��
"��%����� ���3 = ��� �����������-!�( ���� = ��� ��������� ����$ ���������( ���� =



5) ���� ����	������ ���� �������  ��� !	�	�	��	

��� ��������� ���&:�$ ���������� � ��"-�&���� ��/�� ���-%��& ���+ ��������� ����

����� ��������� � ��0���� ����$ ����������

78 · 0.29 · 0.08
461 · 0.05 + 78 · 0.08 · 0.29 = 0.07,

���� �����������-!� !������!������ !�!����� ��
1�
H������%��� ����"�� ���-%�� ������0�� ��0���� ��� ���&:�$ ���������� ����

��������� ����
 ����� ��������� !�!�����

78 · 0.71 · 0.08
147 · 0.05 + 78 · 0.08 · 0.71 = 0.37,

���� �����������-!� = ��51�

(� ��������� 
�����

G�!!������ ��������� ��"-�&���� ��%�!�����&��
  �!���������� �� ������( ������
�����
 � ��� %�!�� � 0���
 �� ����;���0��� Q�!����������&��� ��!%��� ���������!&
! 0��&+ ����������� -!��$%���
 !�!�����$ !�!���� >[? � �"-%���� ��������� !�!����
��� �� ����������
 �� �������!���� !�!������ >[[?�
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